
Model C Front Leg Assembly

1/4” Lock Washers PN 1205 (8)

®

CONCEPT2.COM   800.245.5676 (U.S. & Canada)

03/07

1/4” x 3/4” Button Head Screws PN 1248 (4)

 Long Front Leg PN 1118 (1)

1/4” x 3/4” Button Head Screws PN 1248 (4)

 Front Foot w/Caster Assembly PN 1735 (1)

Caster Stop PN 1309 

Caster Wheels PN 1308 (2)Caster Wheels PN 1308 (2)

 1/4” Nylock Nuts PN 1235 (2) 1/4” Nylock Nuts PN 1235 (2)

 Foot Cap PN 119 (2) Foot Cap PN 119 (2)

The original Model C Front Foot Assembly

Short Front Leg PN 1117 (1)

 *Front Foot only available as an assembly (PN 1735)

*For complete Front Foot w/Caster Assembly order (1) PN 1735


